Conversion Décimal en Binaire (F)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Décimal = 3 2. Décimal = 41
Binaire = Binaire =

3 Décimal = 840 4 Décimal = 855
Binaire = Binaire =

g Décimal = 756 0. Décimal = 198
Binaire = Binaire =

7 Décimal = 972 8 Décimal = 922
Binaire = Binaire =

9. . B 10. , . B
Décimal = 4968 Décimal = 5392
Binaire = Binaire =
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Conversion Décimal en Binaire (F) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

1. Décimal = 3 2. Décimal = 41
Binaire = 11 Binaire = 101001
3. Décimal = 840 4. Décimal = 855
Binaire = 1101001000 Binaire = 1101010111
2 Décimal = 756 0. Décimal = 198
Binaire = 1011110100 Binaire = 11000110
T Décimal = 972 8. Décimal = 922
Binaire = 1111001100 Binaire = 1110011010
). Décimal = 4968 10. Décimal = 5392
Binaire = 1001101101000 Binaire = 1010100010000
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